Q. Consider the following reversible reaction.A(g) + B(g)JAB(g) The activition energy of the backward reaction exceeds that of the
forward reaction by 2RT ( in Jmol 1). If the pre-exponential factor of the forward reaction is 4 times that of the reverse reaction,

the absolute value of AG? Z(in J mol-1) for the reaction at 300 K Is_ (Given:In(2)=0.7,RT=250017 mol ™! at 300K and G

is the Gibbs energy) [JEE Advance 201]
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AG® = -RT In K = 2500 x In (4 x e°) = — 8500 J/mol
- Absolute value of AG® = 8500 J/mol



